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Einstein’'s mass energy equalion 1s
E=m’ (D) E=me’ (€)
2- 5l unit of thermal conductivity Is

Wm Uk’ (D) Wmk (C)

d- Density =7

volume x mass  _Lxpsh (B)

torce el
=5 (D)
area i

The matenal which has large specific heat
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(a) With the help of speed-time graph prove thal (1) R 2R -.LL.H."I*,'. i
Al e V r.' LV I- s v [. 1"-'|

{r‘} oI IIIL_H .o EUN;I”"'[“*!:."

required to move It vertically upward with on Llj $ i dotpd ol Ad (g e n;"'f el

(b A body has weight of 20N How much lorce is

1 r |
acceleraton of 2wy 7 UIECRIE Y

. L1 — A ‘. I.:-I i ] ." -;"
s} Define centre of gravily How the centie al grovwty (1) h.-’ ralis. -,-J' AL I/
of an megular shape ts tound? e P L pdtsd bt JT A

() Caculate the powel ol a pump which con lif1 200 ki “’3} ..L'..,ri: o i.; iim \,‘: 10 I'I,J'; J00h ki "F':' b !

of water through a height of Gmon 10 anconds Rl r"‘L'"": Loah [t If!;
1 woay * M 1 |-" il
(ay Detne evaporation and explain the factons which (4) L lowia et G oty Wt
aftect ther evarporalion el h!

o The weght of a metal spoon inai ls HARN s {(6) bIem le e DABN i UV
werght i water is 02N Find its depalty St R T g QAN

17-1"A 123-104000



